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(@) sl HZ 24X
- x|t
[E-5] X"l S4X]|
diglob
= Zsiet
T2 |37 = of of
| |emsg | oisSgll | AWSEIN | AESFIV | AUSFV
2 | 3,800,000 | 1,220,000 | 610,000 | 190,000 60,000
Hy{&4 H| 2>
d°’*'? 3 | 4,090,000 | 1,560,000 | 700,000 | 170,000 60,000
(tonf/m"®)
4 | 4,090,000 | 1,800,000 | 700,000 | 170,000 60,000
2 377.0 181.0 71.0 34.0 50
HEH 3 380.0 123.0 57.0 27.0 5.0
(tonflmz) . . . . .
4 380.0 123.0 57.0 27.0 5.0
2 46.0 42.0 37.0 30.0 30.0
=1l eIl
WO, 46.0 42.0 36.0 30.0 30.0
(deg)
4 47.0 43.0 37.0 30.0 30.0
2 27 27 26 25 2.1
el 5g
onfim®) 3 27 27 2.6 25 2.1
4 27 27 2.6 25 2.1
2 0.20 0.21 0.25 0.29 0.30
Zolad| | 3 0.20 021 0.25 0.29 0.30
4 0.20 0.21 0.25 0.29 0.30
- X|Exy
(F-6] XA SAMX|
;ﬁagi;fgaéag o e el e e B
= Hkafim®) [ (tonfim®) | (tonf/m%)| (m®) (cm?) -
oiM £32|E | 100 500,000 2.35 0.05 1.042e-5 03 4m
M #3282 | 200 | 1,500,000 | 235 | 0.05 1.042e-5 e
=22 ] 21,000,000 - |491E-4 i =
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27 |eluy - =
oA Ach 3 HA @b =M (oA
s |zme| B9 | ons |one | B2
= [aga| 24 (o] %% 282 i Al
| M319500 ) g | 38 | 36 | 21 | 137 | 521 | 0K | 167 | 576 | OK
saz | (29)
4+317.809 | 30 | 28 | 35 | 25 | 341 | 417 | 0K | 318 | 376 | OK
2 (AM2)
5*(8;‘;%“ 075 | 0.59 | 027 | 0.19 | 67 | 11.6 | OK | 037 | 0.49 | OK
s
7+150.000
(oropy | 085 | 064 [ 022 | 030 | 72 | 153 | OK | 072 | 075 | OK
9+990.000 | 457 | 0.69 | 0.33 | 026 | 76 | 13.0 | OK | 0.31 | 0.61 | OK
(atop '
3 | =ug 10‘;232;;’00 28 | 04 | 02 | 15| 386 | 458 | OK | 331 | 7.29 | OK
10:982.396) e | 43 | 48 | 36 | 703 | 708 | OK | 7.75 | 7.75 | oK
(ME)
4 | 2am1 12‘;1:‘1;;62 201 | 155 | 074 | 054 | 24 | 268 | OK | 1.85 | 2.09 | OK
< 8

» Shotcrete {3

- 289 HATIFYE : fu = 200kef] o

- Shotcrete 5|8t=22 : f, = 0.4f, = 80kgf/cm’
» Rock Bolt Z24(D25/SD35)

2
- Rock Bolt /8%231 : p = A-f, = ~EX 250 1750 — g.867 ton

(4) X|28= siAZn}
- Shotcreteof| gHAsl= 232 %4 6.7kgffem® ~ X|cf 70.8kgffem® 2HAMEH=C] o|=
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« My=6.071t.m < ¢ M,=8.382tf.m
Reqd A=10.241cm?<Use A=14.325cm’
« V=3.273t < ¢ V=15.765tf

- 0K

« My=6.071tf.m < ¢ M,=8.382tf.m
Req'd A=11.200cm’<Use As=14.325cm’
« V=3.2731f< ¢ Ve=15.764tf . 0K
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4
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I

y

» M=3.553tk.m < ¢ M,=8.382tf.m
Reqd Ac=5.913cm’<Use A=14.325cm’
« V,=4.273tf< ¢ V=15.765tf

- 0K

+ M,=3.553tt.m < ¢ M.=8.382tf.m
Req'd A=7.883cm’<Use As~14.325cm’
- Vi=4.2731 < § Ve=15.7641 - 0K

o
0

4r

re
H

+ My=5.198tt.m < ¢ M,=8.382tf.m
Req'd A=8.727cm’<Use As=14.325cm’
« V,=11.094tf < ¢ Vo=15.765tf

- 0K

¢ M=5.198tf.m < ¢ M,=8.382tf.m
Req'd A=11.200cm’<Use As=14.325cm’
« V,=11.0941f < ¢ V=15.764if . 0K

41

I
4r
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« M,=2.026tf.m < ¢ M,=8.382tf.m
Req'd As=3.345cm’<Use As=14.325cm’
< V,=4.2501f < ¢ V=15.765tf

- 0K

» M=2.026tf.m < ¢ M,=8.382tf.m
Req'd As=4.459cm’<Use A=14.325cm’
+ Vi=4.2591 < ¢ Ve=15.7641 .. 0K

B
0

4z

« M=6.979tf.m < ¢ M,=8.382tf.m
Reqd A=11.833cm?<Use A=14.325cm’
« V,=5.587f< ¢ V=15.765f

- 0K

+ M=6.979tt.m < ¢ M,=8.382tf.m
Req'd As=11 832emP<Use A=14.325cm’
« V=5.5871f < ¢ V=15.7641f s 0K

1z
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«M=4.132ft.m < ¢ M,=8.382tf.m
Reqd A=6.897cm’<Use As=14.325cm’
« V,=7.5831f< ¢ Ve=15.765tf

- 0K

« My=4.132ttm < ¢ My=8.382tf.m
Req’d A,=9.196cm’<Use As=14.325cm’
« V=7.583tf< ¢ V=15.764if . 0K

r
4

s My=5.794f.m < ¢ M,=8.382tf.m
Reqd A=9.759cm’<Use A=14.325cm’
« V=12.1481< ¢ Ve=15.765tf

- 0K

« My=5.794tf.m < ¢ M;,=8.382tf.m
Req'd Ac=11.200cm?<Use A=14.325cm’
« V,=12.1481< § Vo=15.7641 .. 0K

i
I
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» My=3.440tt.m < ¢ M,=8.382tf.m
Reqld A=5.721cm?<Use As=14.325cm’
« V,=6.315tf< ¢ V=15.765tf

- 0K

« My=3.440tf.m < ¢ M,=8.382tf.m
Req'd A=7.628cmP<Use A=14.325cm’
« V=6.3151f < ¢ V=15.764tf . 0K

2
I

r

« My=12.103tf.m < ¢ Mn=13.042tf.m
Req'd Ac=21.146cm?<Use A=22.920cm’
« V,=9.236tf < ¢ Ve=15.765tf

- 0K

« My=12.103tt.m < ¢ My=13.042tf.m
Req'd A=21.146cm’ <Use A=22.920cm’
« V,=0.2361f < ¢ V=15.7641f ~ 0K

4L

« M=7.882tt.m < ¢ My=13.042tf.m

+ M=7.882tft.m < ¢ M;=13.042tf.m

== | Reqd A=13432cm’<Use A=22.920cm’ | Req'd A=13.431cm’<Use As=22.920cm’
« V,=14.963t< ¢ V/=15.765tf - 0K |+ V=14.963tf< ¢ V.=15.7641f - 0K
« M,=6.936t.m < ¢ M,=8.382.m - M,=6.936tl.m < ¢ M,=8.382tf.m
A= | Reqd A=11.757cmi<Use A=14.325cm’ | Req'd A=11.756cm’<Use As=14.325cm’
ol « V,=15.074t< ¢ Vo=15.765tf " OK |+ V=15.074ti< ¢ V.=15.7641f .. OK
= + M,=5.959th.m < ¢ M,=8.382tf.m + M=5.959thm < ¢ M,=8.382tf.m
==l Reqd A=10.046cmi<Use A=14.325cm* | Reqd A=11.200cm’<Use As=14.325cm’
« V,=10.725tf < ¢ V=15.765tf "o 0K |« Vi=10.725< ¢ V=15.7641f .. OK
Fd ~=5z2d J&sxad
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+ f.=7.693kgf/cm’® < fca=96.000kgf/cm® » f=7.693kgf/cm® < f.2=96.000kgf/cm”
BHE . f=5.107kgf/cm® <f,=6.507kgf/cm’ + £=5.107kgf/cm® <f2=6.507kgf/cm®
Z|CHAL | + 1=0.310kgf/cm? < 1.=3.873kgf/cm® « U=0.465kgf/cm? < U,=3.873kgf/cm®
- 5 0. K S 0. K
=< + f.=3.990kgf/cm? < f;a=96.000kgf/cm’ « f,=3.990kgf/cm?® < f.,=96.000kgf/cm’
&3 |, {=0.810kgffcm® <f,=6.507kgf/cm? « £=0.810kgf/cm? < f,z=6.507kgf/cm?
Z|CHA] | « 1=0.310kgf/cm?< 1.=3.873kgf/cm® » 1=0.465kgf/cm? < 1,=3.873kgf/cm®
RP-1B 0. K ~ 0. K
 f.=5.830kgf/cm? < f-a=96.000kgf/cm®  f.=5.830kgf/cm? < f:a=96.000kgf/cm?
SHE |, =3.103kgf/cm® < fia=6.507kgf/cm? « f=3.103kgf/cm® <f,=6.507kgf/cm®
Z|CHAl | + 1=0.313kgf/cm? < 1,=3.873kgf/cm’ « =0.470kgffcm?< V.=3.873kgf/cm®
EHE , S 0.K ~ 0. K
x4 | f:=2.070kgf/cm® <fc.=96.000kgf/cm? « f=2.070kgf/cm?® <f.2=96.000kgf/cm®
e U=0.313kgf/cm2<Ua=3.873kgf/com2K . U=0.470kgf/cm2<Ua=3.873kgflcm2
- 0. 0. K
+ f-=10.967kgf/lcm?<f-2=96.000kgf/cm® | + f=10.967kgf/cm®<f-.=96.000kgf/cm*
DHE | . £=5.700kgf/cm’ < =6.507kgf/cm’ « f;=5.700kgf/cm? < fia=6.507kgffcm?
Z|CHA | « 1=0.617kgf/cm? < U.=3.873kgf/cm? » 1=0.925kgf/cm? < U,=3.873kgf/cm’
MY o 0. K _ o 0. K
x| f=3.927kgf/cm® < f-2=96.000kgf/cm® + f=3.927kgf/cm® < f:a=96.000kgf/cm”
oAl | * U=061 7kgf/cm2<Ua=3.873kgf/gm2K . U=0.925kgf/cm2<Ua=3.873kgf/(c:)m2K
RP-2A  f.=8.960kgf/cm? < f,=96.000kgf/cm?  f.=8.960kgf/cm? < f-a=96.000kgf/cm?
BHE | . t=3.307kgffcm® <f=6.507kgf/cm? « =3.307kgf/cm? < f1,=6.507kgffcm?
e Z[CHAl | « 1=0.61 7kgf/cm2<Ua=3.873kgflgm2K . U=0.925kgflcm2<Ua=3.873k_gf/com2K
ESE =N - 0. - 0.
=z |° f.=3.580kgf/cm’ < fea=96.000kgf/cm” « f=3.580kgf/cm® <fc2=96.000kgf/cm?
2cyAl| + 0=061 7kgf/cm2<Ua=3.873kgf/gm2K -U=O.925kgf/cm2<Ua=3.873kgflcm2
- 0. - 0. K
|+ f=12.293kgf/cm? < £:2=96.000kgffcm® | + f=12.293kgf/cm* < f..=96.000kgf/cm®
DHE | . {=5.973kgf/cm? < a=6.507kgf/cm® « =5.973kgf/cm? < fa=6.507kgf/cm?
- | ZIthAl | « v=0.857kgf/cm® < V.=3.873kgf/cm® « =1.285kgf/cm? < V,=3.873kgf/cm®
NYE - 0. K L 0. K
x2 | f.=7.110kgf/cm? < f..=96.000kgf/cm® « f=7.110kgffcm® <f.2=96.000kgf/cm’
N U=0.857kgf/cm2<Ua=3.873kgf/gm2K . V=1 .285kgf/cm2<Ua=3.873kgf/%m2K
RP-2B o « f-=12.840kgf/cm® <f.2=96.000kgf/cm® |  fc=12.840kgf/cm” < fc2=96.000kgf/cm®
| BHE |, £=5.293kgf/cm’ < fa=6.507kgf/cm? « £=5.293kgf/cm® < f,=6.507kgf/cm®
] Z|THAl | « 1=0.840kgf/cm? < U,=3.873kgf/cm? « U=1.260kgf/cm? < 1,=3.873kgf/cm’
EX T 0. K - 0. K
me | f.=4.670kgf/cm? <f=96.000kgf/cm® « f=4.670kgf/cm® <f.2=96.000kgf/cm”
PN -U=0.84Okgf/cm2<Ua=3.873kgf/8m2K . U=1 .260kgflcm2<1Ja=3.873kgflcm2
o 0. 5 0. K
28 ~333H =X d
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« My=6.058tf.m < ¢ M,=8.382tf.m + M=6.058tf.m < 4 M,=8.382tf.m
=] Reqd A=10.219cm’<Use A=14.325cm® | Reqd As=11.200cm’<Use A=14.325cm’
o p « V=3.2791f < ¢ V.=15.765f 5 0K |+ V=3.279H< ¢ Ve=15.7641f .. 0K
== « My=3.519tf.m < ¢ M,=8.382if.m « My=3.519tf.m < ¢ M,=8.382tf.m
==\ Regd A~5.855cm’<Use As=14.325¢m’ Req'd As=7.806cm’<Use A=14.325¢m’
2P1B « V=4.3861f < ¢ V=15.765(f 5 0K |+ V,=4.386t< ¢ V=15.7641f . OK
+ My=5.145tf.m < ¢ M,=8.382tf.m « My=5.145t.m < ¢ M,=8.382tf.m
Mx=| Regd A=8.635cm*<Use As=14.325cm’ Req'd A=11.200cm’<Use As=14.325cm’
o= + V,=10.995tf < ¢ V.=15.765f o 0K |+ V=10.995 < ¢ V.=15.764if .. 0K
+ My=2.048tf.m < ¢ M,=8.382ff.m « M=2.0481.m < ¢ M,=8.382tf.m
Zui=| Regd A=3.381cm’<Use A=14.325cm’ Req'd As=4.508cm’<Use A=14.325cm”
V,=4.087H< gV=15.765f .. OK |.V,=4.087t< ¢ V=15.764tf . 0K
« My=7.025f.m < ¢ M,=8.382tf.m + My=7.025tf.m < ¢ M,=8.382tf.m
M™M= Reqd A=11.914cm’<Use A=14.325cm® | Req'd A=11.913cm’<Use A=14.325cm’
A « V,=5.830tf < ¢ V=15.765tf . 0K |+ V,=5830t< ¢ V=15.7641f . 0K
== « My=4.575.m < ¢ M,=8.382tf.m s My=4.575f.m < ¢ M,=8.382tf.m
Zui=) Regd A7.655cm’<Use A=14.325cm’ Req'd Ac=10.206cm’<Use As=14.325cm’
RP-2A + V,=8.860tf < ¢ V=15.765f . 0K |+V,=8.860tf< ¢ V.=15.7641f .. 0K
s My=7.510tf.m < ¢ M,=8.382tf.m « My=7.510tf.m < ¢ M,=8.382tf.m
HHE| Reqd A=12771cm’<Use A=14.325cm* | Req'd A=12.770cm’<Use A=14.325cm’
ol « V,=13.9401f < ¢ V.=15.765f . 0K |+ V=13.940t < ¢ V.=15.764tf .. 0K

B

i
4

« My=3.849t.m < ¢ M=8.382tf.m
Req'd As=6.415cm’<Use A=14.325cm’

» V,=7.855t< ¢ V=15.765H - 0K

« My=3.849.m < ¢ M,=8.382tf.m
Req'd A=8553cm’<Use As=14.325cm’
« V,=7.855tf < § V=15.7644f . 0K

RP-2B

e
0

4

s My=12.103tf.m < ¢ M=13.042tf.m
Req'd As=21.146cm’<Use A=22.920cm’

« V=9.236tf < 4 V=15.765t o 0K

s My=12.103f.m < ¢ M,=13.042tf.m
Req'd A=21.146cm*<Use As=22.920cm’
« V,=9.236tf< ¢ V=15.764tf . 0K

g3

I
4r

. Mu=7.882tf.m < ¢ Mp=13.042tf.m
Req'd A=13.432cm?<Use As=22.920cm’

» V=14.963t < ¢ V=15.765tf - 0K

« My=7.882f.m < ¢ M;=13.042tf.m
Req'd A=13.431cm*<Use A=22.920cm’
- V,=14.963tf < § Vo=15.764tf . 0K

>
el

o

« My=6.936t.m < § M,=8.382tf.m
Req'd A=11.757cm?<Use A=14.325cm’

» V=15.074tf < ¢ V=15.765i - 0K

« My=6.936tf.m < ¢ M;=8.382tf.m
Req'd As=11.756cm’<Use As=14.325cm’
« V,=15.074tf < § V=15.7641f - 0K

4

+ My=5.959tf.m < ¢ M,=8.382tf.m

« M,;=5.959f.m < ¢ M,=8.382tf.m

—102—

=5 Req'd A=10.046cm’<Use A=14.325cm® | Reqd A=11.200cm’<Use A=14.325cm’
« V,=10.725f < ¢ V.=15.7651f .. OK |+ V=10.725t< ¢ V.=15.7641f . 0K
2 ~3&8d Jl=xad
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+ f.=7.693kgf/cm? < f;a=96.000kgf/cm” « f=7.693kgf/cm?® <f.a=96.000kgf/cm®
BHE | ., §=5 107kgffcm® <f,=6.507kgf/cm” « £=5.107kgf/cm® <1,,=6.507kgf/cm®
Z|THAL| U=0.31Okgf/cmz<Ua=3.873kgf/%m2K « 1=0.465kgf/cm® < U,=3.873kgf/cm’
] - 0. 0. K
M
N ] . f.=3.990kgf/cm?® < f.a=96.000kgf/cm® « f.=3.990kgf/cm® <f.a=96.000kgf/cm?
=2 | . §=0.810kgf/cm® < =6.507kgf/cm’ « f:=0.810kgf/cm® < .=6.507kgf/cm”
APAB Z[CHA| -U=0.31Okgf/cm2<Ua=3.873kgf/gm2K « 0=0.465kgf/cm?< U,=3.873kgf/cm®
- - 0. 0. K
+ f.=5.830kgf/cm? < f;a=96.000kgf/cm? + f.=5.830kgf/cm?® < f.=96.000kgf/cm?
DHE | . £=3.103kgf/cm® < f=6.507kgf/cm’ « f,=3.103kgf/cm? < z=6.507kgf/cm®
e Z|THA| -U=O.313kgf/cm2<Ua=3.873kgf/8m2K » U=0.470kgf/cm? < U,=3.873kgf/lcm’
== - 0. S 0K
z= | f;=2.070kgf/cm? <f.=96.000kgf/cm? « f.=2.070kgf/cm?® < fc2=96.000kgf/cm?
N -U=O.313kgf/cm2<Ua=3.873kgf/gm2K . U=0.470kgf/cm2<Ua=3.873kgf/c(:)m2K
- 1.=10.967kgf/cm? <f=96.000kgf/cm® | - f=10.967kgf/em’ < fc2=96.000kgf/cm”
D E |, §=5.700kgffcm? < f.»=6.507kgf/cm’ « f=5.700kgf/cm’ <f,,=6.507kgf/cm®
- Z[cHAl |« v=0.61 7kgf/cm2<Ua=3.873kgf/c6m2K . U=O.925kgf/cm2<Ua=3.873kgf/%m2K
—oT . .. . . L. .
x| f=3.927kgf/cm? <f.=96.000kgf/cm® + f=3.927kgf/cm? < f:2=96.000kgf/cm?
ETE u=0.617kgf/cm2<Ua=3.873kgf/c(:)m2K . U=O.925kgf/cm2<Ua=3.873kgf/c6m2K
RP-2A - 0. - 0.
+ f.=8.960kgf/cm? < fz=96.000kgf/cm® « f.=8.960kgf/cm? < f.=96.000kgf/cm®
DHE | . §=3.307kgi/cm? < f=6.507kgf/cm’  £=3.307kgf/cm? < fa=6.507kgf/cm®
e Z{CHA| -U=0.617kgf/cm2<Ua=3.873kgf/gm2K « 0=0.925kgf/cm? < U,=3.873kgf/cm”
ESL ) - 0. . L 00K
== | f=3.580kgf/cm® < f.=96.000kgf/cm® .« f.=3.580kgf/cm?® < f:a=96.000kgf/cm®
|cyAl| * 0061 7kgf/cm2<Ua=3.873kgf/gm2K . U=0.925kgflcm2<Ua=3.873kgflc6m2K
+ f.=12.293kgf/cm? <f.=96.000kgffcm? | + fc=12.293kgffom’ <fc2=96.000kgf/cm®
DHE | . £=5.973kgf/cm? < fz=6.507kgf/cm® « £=5.973kgf/cm? < .=6.507kgf/cm®
- Z|CHA| -1J=0.857kgf/cm2<Ua=3.873kgf/gm2K « U=1.285kgf/cm? < 8,=3.873kgf/cm’
—oTT S . . O K
== | f:=7.110kgf/cm? < f;a=96.000kgf/cm? + f.=7.110kgf/cm?® <f:2=96.000kgf/cm®
= + 0=0.857kgffcm? < 1,=3.873kgf/cm’ « 0=1.285kgf/lcm? < U,=3.873kgf/cm’
ap Z|CHAl 20, K 20, K
o8 = 0. - O.
 fo=12.840kgt/om® <f=96.000kgffcm? |+ fe=12.840kgf/cm’ <fc:=96.000kgf/cm”
DHE | . £=5.293kgf/cm? < fra=6.507kgf/cm”  f=5.293kgf/cm? < =6.507kgflcm®
o Z|CHAL | U=0.84Okgf/cm2<Ua=3.873kgf/%m2K . u=1 .260kgf/cm2<Ua=3.873kgf/c6m2K
== | fo=4.670kgf/cm? <f.2=96.000kgf/cm® + f.=4.670kgf/cm? < fca=96.000kgf/cm’
NENE 1=0.840kgf/cm? < 1.=3.873kgf/cm’ . u=1.260kgf/cm’ < V,=3.873kgf/cm’
5 0. K - 0. K
z2d ~=238d J1ssXgd
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C) H4=7

(1) 8557 232 =told

- &2 el o A A B2 H®H HAE
+ M,=5.904tf.m < ¢ M,=8.382tf.m « My=5.904tf.m < 4 M,=8.382tf.m
HMAEE| Reqd A=9.950cm’<Use A=14.325cm’ | Req'd A=11.200cm?<Use As=14.325cm?’
VW * V,=3.045tf < ¢ V=15.765tf o 0K |+ V=3.045t < ¢ V.=15.7641f . 0K
== « My=3.567tf.m < ¢ M,=8.382tf.m * My=3.567tf.m < ¢ M,=8.382tf.m
Zei5t| Req'd A=5.936cm’<Use As=14.325cm’ Req'd As=7.915cm’<Use A¢=14.325¢cm’
RPAB « V=749 < ¢ V=15.765(f 50K |+ V=4.7491 < ¢V =15.764if - 0K
« My=5.133tf.m < ¢ M,=8.382tf.m « M,=5.133tt.m < ¢ M,=8.382if.m
HMAE| Reqd A=8.615cm’<Use As=14.325cm’ Reg'd As=11.200cm’<Use As=14.325cm’
o) » V=10.9561f < ¢ V=15.765f . 0K |« V,=10.956t < ¢ V=15.7641f . 0K
=T * M,=2.047tf.m < ¢ M,=8.382tf.m * My=2.047tf.m < ¢ M,=8.382if.m
Zu45| Reg'd A=3.380cm’<Use As=14.325cm? Req'd As=4.506cm’<Use A¢=14.325cm’
+V=4.1821f < ¢ V=15.765(f 50K [« V=4.182f< ¢ Ve=15.764if 5 0K
(2) YutF ol g et ot 2
=] = 3 = A A2 g dE
 f=7.693kgf/cm® < fc2=96.000kgf/cm® | » f.=7.693kgf/cm? < fo2=96.000kgf/cm?
DHE | . {=5.107kgf/cm? <f.=6.507kgf/cm? « f=5.107kgf/cm? < f,,=6.507kgf/cm?
Z|CHA| | » U=0.310kgf/cm® < U,=3.873kgf/cm? « U=0.465kgf/cm® <1,=3.873kgf/cm?
. 5 0. K o 0. K
’5.‘!@—'?’- 2 2 2 2
« f=3.990kgf/cm* < fa=96.000kgf/cm « fc=3.990kgf/cm*® < f.a=96.000kgf/cm
=3 | . §=0.810kgf/cm® <f,=6.507kgf/cm? + £=0.810kgf/cm?® < f,,=6.507kgf/cm?
%|CHA] | + 0=0.310kgf/em®<V.=3.873kgf/cm’ » U=0.465kgf/cm? <1,=3.873kgf/cm?
RP-1B|- o 0. K o 0. K
« f=5.830kgf/cm® < fa=96.000kgf/cm? « fc=5.830kgf/cm? < fc2=96.000kgf/cm?
DHE | « £=3.103kgflcm?< f=6.507kgf/cm? « ft=3.103kgf/cm? < f,,=6.507kgf/cm?
Z|CHA| | + 0=0.313kgf/cm® < U.=3.873kgf/cm? + 0=0.470kgf/cm? < 1,=3.873kgf/cm?
EXT] o 0. K o 0. K
any |+ fc=2.070kgt/em® <fc,=96.000kgf/cm® | + fo=2.070kgf/cm? <f;=96.000kgf/cm?
77 | 5=0.313Kgf/cm?< 0,=3.873kgf/cm? » U=0.470kgf/cm? < 0,=3.873kgf/cm?
ACHA . 0. K . 0. K
FH~53H Jaren

— 104~




=3
=

EhHol A EEE(L=5m)+£ 32| E(t=5cm)

{0

Toll

i

AL,

j2te 24 0.19mm ~ ZC§ 6.6mm

aE

—
| N

ol ol

| —
| B

}

2y

| 70.8kgf/cm?

o %4 6.7kgflom® ~ =

2d
=]

olo
1

EI

- Shotcreteoi]

o

gorE22 gokgfflem® o|Ljo|ZE

-
[i[e]

|A 0.31ton ~ =|C{ 7.75ton LAMEH=C| O]

8=

| —
[ B

03

- Rock Boltof| =f

24 8.867ton O[LHO|22

A B
PSR

A

B

232 |E 2{o]

il

=
=]

tojz2 RZ232E 2lold H30| 7t

0|5

=t

ud
il

21 &

&
0
1Ho
&4
._A_-._

— 105~



